Simplification d’Expressions (A)

Simplifiez chaque expression.

v>-8-8v-9a-4

8c%z
L5k [ —22 ).
‘ ( —1-<—8c>> “

44
5. <_C_§) e
c-c

6. ac - (%) (=1)-2

7.2¢*-(—6a)-c- (—a’)-5a

9. a-2y-(—y)-(—1)-8ay

10. 106*- (=9c¢) - (—bc) -

10b3c
5b
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Simplification d’Expressions (A) Solutions

Simplifiez chaque expression.

v>-8-8v-9a-4
— 2304av°

8¢z
o5 [ —222 ).
‘ ( —1-(—8c>> =

:5&3

44
'5.(_JL;)QC
c-C

= —40¢%z

10. 106* - (—9c¢) - (—bc) -

6.ac-(j%§;>~(l)'2

= —2ac?

7.2¢*-(—6a)-c- (—a*) -5a

= 60a*c?

8. a-(—1)-(—a)-(—3a)-7

= 214°

9. a-2y-(—y)-(—1)-8ay

= 16a%y’

10b3c
5b

— 1806%¢3
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Simplification d’Expressions (B)

Simplifiez chaque expression.

8
. —302-9cz-—c-c2
—8
10cv?
. —CV- -8cv-v

10v

8cu?
c-6u- —
e ( u-8u)

1013
. —2—:-10v-(—x)-x
48ab? 92< b - (—8)
. . a . —a . J—
6a

6. 2a-(—3)-5-8u-4

60u’ x>

ux-u?-6x-10u

. 1543
3 (=5a) - (1)

0. —1- (_2a2z2) (=) - (~22)

40x>

10. —3vx-3v-(—x) 0
X
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Simplification d’Expressions (B) Solutions

Simplifiez chaque expression.

8
.—3C2-9CZ'—C'6‘2

~8
— 2757

101°
10 (—x)-x

= 50v°x°

48ab*

.94 (—ab) - (—8)
= 576a°b*

6. 2a-(—3)-5-8u-4
= —960au

60u’* x>

ux - u?-6x-10u
="x

. o 1543
—_ a.
3-(=5@) (1)
= —24°
2a2z2 5
e L (=z) - (=2
’ (—2az)(z)( 2
= a7

40x>
10. —3vx-3v-(—x)- il

4x2
= 90v2x?
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Simplification d’Expressions (C)

Simplifiez chaque expression.

T5v 14723
. —3¢c-2v- .10V
1 c-2v 35, 6. 7y 3 10y
2 3a®y
2. —xy-6- 3 +(—8x) 7. —6av - (—9v) -6a-—3a
3.5-7az-(—a) - (—az) - (—z) 8. —7a-9a-2b-10ab - 8ab
3.2
o7 . g 6%
46z g3 - e ( 8b - be
b2 7a2
5.b-(—bx)-ﬁ-b 10. —1-(—1)-\/-_7612
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Simplification d’Expressions (C) Solutions

Simplifiez chaque expression.

75v
_3¢-2y-
V35

= —30cv

.5-7az-(—a)-(—az) - (—z2)

= 354’7

9
620

= 18x°7

147a%y? )
6 -10
= 70a*y*
3a%v
. —6av-(—9v)-6a - ——
7. —6av - (—=9v) - 6a 30
= 324a°?
8. —7a-9a-2b-10ab - 8ab
= —10080a"*p’
64b3c?
. —3¢c-6-|—
e ( 8b-bc>
= 144bc?
7a?
0. —1-(—1
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Simplification d’Expressions (D)

Simplifiez chaque expression.

. —10x2'[2_)§:'9'(—10x) 6. Tu-(—u)- (—u®)- (Z_D
. 1()2bv . (_bz) 2 7. 8-Tvy- f;yiy
9.4(5_”5) ux- (—u) 8. —9 — (V—41)-v2
Sau (—=1)-5a-2 9. 6a-2ay- (ﬁ) 3y
2au ay
. Ox - ix:i : (—xz) .57 10. —b* - Tbx- (—%) Ix
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Simplification d’Expressions (D) Solutions

b 3
L1082 2.9 (—10x)
bx
= 900x°
10b
2 b (<)
="
45u
3_ o [ —
5. (—3) ux- (—u)
= ux
8au
2 (=1)-5a-
4 5 (—1)-5a-2
= —40a
4x27? ) )
.9 —x°)-5
5. Ox e (—x%) -5z
= 45x*7°

Simplifiez chaque expression.

6. Tu- (—u)- (—u?) <”_>

12
= —7u®
6 2
7. 8- Tvy- a4
_y.vy
= —336vy
4
y
8. —9-
—1-(=1)-v?
= —Q)?

2
10. —b* - Thx - (—&> -Tx
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Simplification d’Expressions (E)

Simplifiez chaque expression.

1 2ax>
=t 3 (—2u)- | —— 6. —ax-4-— 2
—1 —ax - (—x)
3
,2.88‘”’ v . < 168y° )
T (&)
16ux?
6u-(—1)- Sx-Tx-v-
u-(—1) 1 (—4u) 8.6-5x-Tx-v-3
2 8c’u
—xy (_;;_2) 3x- (—9y%) 9. —8¢-(—c)-cu <—7)
6V oy 4vx
1.7v.<_—6v>-(4) 10. vx-Xx ( v) r
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Simplification d’Expressions (E) Solutions

Simplifiez chaque expression.

C—u*-3-(—2u)- (_il)

= 6u’

8av’

: -av
8av - v?
= 2av

16ux?

L 6u-(—1)- 1 (—du)

= —24ux

10.

2ax3

—ax-4— 2
“ —ax- (—x)

— —8ax?

<
|

168y° >
7-(—4y) -y

I
Q
=

.6-5x-7x-v-3

= 630vx?
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Simplification d’Expressions (F)

Simplifiez chaque expression.

378u’z
[ R (=1
( 9u-7z> =1)

. y*-2-a*-10-(—9a)

. —9y- (—8y2) -by-2by-6b

. —u-=-v-3u

37° )
6. B Py g - (—92%)

7. 9vz- (—vz) - (—22°) -vz-5

12vty
—v2-3-4y

8_3.(_

9. yz-(—1)-2z-(=7)-6y*

10. —10- <—7av.(423;%(1))
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Simplification d’Expressions (F) Solutions

Simplifiez chaque expression.

378u’z
[ R (=1
( 9u-7z> =1)

= —42u°

. —9y- (—8y?) - by -2by-6b
= 864b%y°

. —u-=-v-3u

= —3u’y

37° )
6. B Py g - (—92%)
= —97°

7. 9vz- (—vz) - (—22°) -vz-5
= 90v*7°

9. yz-(—1)-2z-(=7)-6y*
= 84)/3z2

10. ~10- (7aV° (4—2;1;?(—1))
— 60v
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Simplification d’Expressions (G)

p—

Simplifiez chaque expression.

6. c- <b—zc> (—1) - (=3be)

. —1-x2-10-9y-6x

100v°
V2 (=2)-10v?- (—v)

54073

2 2
R G B!
* ( —1Oz2-9z) *

—7-Tu*-c-(—10)-9

10.

Cc

b*x*
—x?-b?-(—1)-(—bx)

5
_1.2.(;.21,2
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Simplification d’Expressions (G) Solutions

Simplifiez chaque expression.

. —1-x2-10-9y-6x
= —540x°y

p—

4. =7-Tu*-c-(—10)-9
— 4410cu®

= —56bc°

b*c
6. C- | ———

) (-1 (=300

c
= —3b°c?

7. 9z-67-2x7- (—£>

— 108xz°

_ y3Z%
b*x*

9

—x2-b%?-(—1)-(—bx)

= —bx

5

10. —1 -%-6-21/2

= —2c%°
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Simplification d’Expressions (H)

Simplifiez chaque expression.

u
2
cu
C6eu-c- (—cu) - — v
cu-c-(—cu) — . ;,4,(_@.”
. —3az-5az- (—z) .az-a* 6u’?
8. 2-9u-2uv
_v.u
T2u*
Sy 3uy 2
8u - (—9u?) 0. —a-7-“— . ax
ax
42yz 2.2
2y (=52)- (— ) 8b7x
T . —b- (—x) - (—
z-(=7) 10 Ahx (=x) - (=x)
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Simplification d’Expressions (H) Solutions

Simplifiez chaque expression.

. o — | — . 2 8
. 6uy 102 (4 uv)-(=9)-v 6. u-ﬂ-l()a-(—%u)
= 540u“v U
= —320a°u®
2
cu 3
. 6cu-c-(—cu) — - u_2.4-(—u)-u
6 U 3
= —4u
. —3az-5az-(—z)-az-a’ 61’V
1545 8. E—— Ou - 2uv
= —108u*V?
72u®
—Sy.———— 3uy 2
0.2
%uz( Ou?) o —q.7- 2 . x
= 15u”v ax
= —Ta’x’
42yz
_v.(—5 _ 8bx?
y-(—52) < Z (_7)) 10, —b- ——. (—x) - (—x)
y = —2b"x
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Simplification d’Expressions (I)

Simplifiez chaque expression.

X 4
v (=) - (=223 - 2 ) 8¢
xy - (—xy) ( ) X 6. 3¢ —cz—(—c)(_l)
2 X 2 2 2
=30 g 7. =9y (—2%) - (—=10v?) - 202 (—1)
420 » 50w
2 2 0x2.
. 106 Wbb 8. X 10X2'5X2'x
8c21? ) 8u’ 5
6y - . . _ (=1)-(—=5
. —6¢cv-5Scv 32 4c 9 ) (—=1)-(=5)-c
8 5b
ey (—_—é) 2 (—102) 10, bu-4u-—_;;-b
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Simplification d’Expressions (I) Solutions

—

W

4

9

Simplifiez chaque expression.

ey () - (220) - 6. 3% ———— - (—1)
— —2x4y2 _C3° (=)
= —24c
2 X’
=3 (=5x) = 7. =9 (=x%) - (=10v*) - 20+ (—1)
_ 5, = 180v°x”
5
42b4 2 50x
2 2 COx”-
106% b b 5 2 102 52
= 7007 = 9x°
8212 813
. —b6¢cv-S5cv- gcz 4c? 9. 812 (—=1)-(=5) c?
= —120cM* = —5c%u
8 5b
. —zz-(——z)-zz-(—mz) 10. bu-4u- b
_87 —5Su
— 107° = —4b*u’
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Simplification d’Expressions (J)

(U

N

W

b

Simplifiez chaque expression.

45b* Ty
. (—6)-2 vz — 10
op2.5p 7O o < 7-vz>
J— 2 . —_— 2 . J—
> 10y-(=9)-5
40x3
.9‘Z'4—x2‘9XZ
8. v (=b*)-10-bv-b
252y°
*Z
6-y*-7 0. 22 (—vx)- (1) (—vx)- (1)
Xy
3xy (ﬁ)(}) (—xy) 10. u?-a-4-(—2a)-au

MathsLibres.com




Simplification d’Expressions (J) Solutions

Simplifiez chaque expression.

45p% Tvz?
(—6)-2 vz | — - 10
op75p (O o < 7-vz>
= —12bx = —40v7
2 —4.v.(— 2\ (2 -9
:36yy6< ) (27 (=)  4050%°
- y2-10y-(=9)-5
= —Ox
40x°
3. 9-z-—x-9xz
4X2 2
= 810x%7° 8. v+ (=b")-10-bv-b
— — 10647
252y°
4. 5 7-z
g%’ : 9, —x2-(—vx)-(—1)-(—vx)°(—1)
= 0yz :—v2x4
2 XY
5. 3xy- (—x ) (—;) '(—X)’) 10 u2-a-4- (_2a) au
= 3x5y2 = —8a'w’
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